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Final Exam Group Test Mock 

1. Why did the Europeans prefer informal control? 

● Answer: Europeans preferred informal control because it is cheaper and will less likely 

provoke wars.  

2. What is the “Scramble for Africa?” 

● Answer: Half a dozen European powers are against each other to partition Africa 

amongst themselves. 

3. Who gave the Japanese two centuries of peace 

A) Merchants 

B) Peasants 

C) Shogun 

D) Italians 

● Answer: C 

4. Why did Hong Xiuquan cleanse the land? 

● Answer: He thought that the land was poisoned by foreigners and needed to get rid of the 

demons to establish peace. 

5. What led to the downfall of the Taiping forces? 



● Answer: Divisions, indecisiveness, and not being able to connect with other rebels led to 

their downfall. 

6. Who was involved in Pearl Harbor? 

A) China and United States 

B) Japan and United States 

C) North Korea and United States 

D) Asia and United States 

● Answer: B 

7. What happened in the Rape of Nanjing? 

● Answer: 200,000 to 300,000 Chinese civilians were killed and mutilated, and women 

were sexually assaulted.  

8. How many casualties resulted from the Hiroshima and Nagasaki “Little boy” atomic bomb 

and who accounted for most of the casualties? 

A) 40,000, military soldiers 

B) 20,000, civilians 

C) 100,000 military soldiers 

D) 80,000, civilians 

● Answer: D 

9. True or False 

The Wannsee Conference was where Hitler’s top advisors discussed The Final Solution. 

● Answer: True 

10.  Match the communist ruler with their country: 



1. Mao Zedong           A. Cuba 

2. Fidel Castro           B. Vietnam 

3. Ho Chi Minh          C. China 

● Answer: C, A, B  

Fill in the blank: 

11.The _________ were a small socialist party led by Lenin. 

● Answer: Bolsheviks 

12. ________ did not call for social revolution but sought the moral transformation of 

individuals.  

● Answer: Gandhi 

True or False 

13. Africans in South Africa had political rights directly after acquiring independence from Great 

Britain. 

● Answer: False 

14. The term “Afrikaner” refers to “White Africans.” 

● Answer: True 

15. Technology contributed to the acceleration of economic globalization. 

● Answer: True 

16. Who has been by far the largest group of immigrants that have made their way to the United 

States? 

A) Haitians 

B) Cubans 



C) Koreans  

D) Mexicans 

● Answer: D 

17. _____ held a profound potential change in the global culture of liberation. 

A) Feminism 

B) Imperialism  

C) Communism 

D) Capitalism 

● Answer: A 

18. True or False 

“Women’s liberation” took aim at patriarchy as a system of domination, similar to those of race 

and class. 

● Answer: True 

19. _____ recognized women as equals to their husbands and allowed them to initiate divorce 

and claim child custody. 

A) Seattle Tea Party 

B) None of the above 

C) The Feminine Mystique 

D) Family Law Code 

● Answer: D 

20. Three factors that magnified the human impact on earth’s ecological systems were all except  

A) Economic growth 



B) Explosion of human numbers 

C) Explosion of human technology 

D) Ability of humankind to tap the energy potential of fossil fuels 

● Answer: C 

 

 

 

 

 


